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Which number should replace the
question mark (?) in the following
number seires ?

225493 1% 1 Y 32,54, 98, 186, 2, 714

frferfea dear sigen o we @ (?)
Q2 Y 8y 13 & WM W DI G G=T A Afee?

32, 54, 98, 186, ?, 714

(a) 452

(b) 450 @
\_{c 362

(d) 354



Select the figure that will replace
the question mark (?) in the
following figure series.

Wmﬂwﬁﬁ’rﬁﬂﬁﬁ@'ﬂ




Select the option figure which is
embedded in the given figure
(rotation is NOT allowed).

S9 fddey Ppfa &1 =99 & o <«
T IMPpfa # Ifafdd 8 Ry @
rgAfar STEl B) |

(d)




Select the figure that will replace
the question mark (?) in the
following figure series.

wa@hmwaﬁa‘rﬁﬂﬁm




Select the set in which the

numbers are related in the same
way as are the numbers of the

following set.

(NOTE: Operations should be
performed on the whole numbers,
without ©breaking down the
numbers into their constituent
digits. E.g. 13- Operations on 13
such as
adding/Subtracting/multiplying
etc. to 13 can be performed.
Breaking down 13 into 1 and 3
and then performing
mathematical operation on 1 and
3 is not allowed.)

(12, 4, 64)

(8, 6, 14)



S 9T $T II9 DN forad G St
YHR Getg & o fA=faRaa 9 &)
H&W B |

(Fre: wfbad gof H@amsii W) 1 S
3T, GEIR B SHD USH I A
are fa=r| SeERT & fow 13— 13 W
wfeparg o & 13 H
ST /9eHT /O &Rl anfe far
T 9Par 81 13 @ 1 3R 3 § aren
IR B 1 3R 3 w® WOy <fssar
S B IAFAfA T8 B 1)

(12, 4, 64)

(8, 6, 14)

(a) (7, 3, 28)

(b) (10, 6, 42)

(c) (11, 9, 15)

(d) (9, 5, 28)



In a certain code language,
‘QUANTITY’ is written as

‘TPMZHSXS, ‘RELIABLE’ s
written as ‘DQHKAZDK’. How will
‘SAMPLING’ be written in that
language?

U fAREd e Wt #, ‘QUANTITY’
@ ‘TPMZHSXS 39 UK forar Srar
g,

‘RELIABLE’ $1 ‘DQHKAZDK’ for@r
ST 8| S9 9INT ¥ ‘SAMPLING’ &9

foraT SImeeT?
(a) ZROLHLGM @

(b) ZROLHJEL

A€) ZROLHKFM

(d) ZROLHKFN



£ RETSAW

]

_ € &FSBY

Each vowel in the word
‘FRETSAW’ is changed to the
following letter in the English
alphabetical series and each
consonant is changed to the
previous letter in the English
alphabetical series. In the newly
formed word, how many alphabets
are there in the English
alphabetical series between the
alphabet which is 3 from the
right and 1st from the left?

‘FRETSAW’ 9 H UA® TaX &I
UG JUHATAT SEAT D 3T &R 4|
e far ar 2 iRy e 9t
UGN JUIATT H@eT & fUse &R |
gad fear T 8| F9fdd g §, qd



¥ R 3R T @ B R @ 99
SIS qUiHTeT @ # fhae R 87
(a) Three

(b) Four

(c) One

(d) Two



Which of the following numbres
will replace the question mark (?)
in the given series?

11, ?, 29, 53, 101, 197

ffoiRed & 4 @9 3 9= @ g

saEar d y e (7)) 91 ufoeenfia
/]

@ A\ -

11, ?, 29, 53, 101, 197

(a) 19

RE

(c) 21

59f17



Which figure should replace the
question mark (?) if the series
were to be continued?

e Sf@en N @A B o v e
?) & WM W P AT AF ST

aATBY?




Zo 26

The second number in the given
pairs is obtained by performing
certain mathematical operation(s)
on the first number. The same
operation(s) are followed in all the
number pairs, EXCEPT one. Find
that odd number pair.

feg U SR § gl HEr uselt |
W §o TR Gfshad frafed ows
U B Sl 81 U Bl Bledy, a4l
T T W OGHE S BT 9T
far smar 31 98 faww W& g™
PIFTY |

(a) (6, 1260)

)a\© (b) (5, 600)

(d) (4, 240)



Which number should replace the

question mark (?) in the following
number series ?

6(4:)—5 [lco 225 <o f)’) Q@ &6 5475, 1100, 225, 50, ?, 8, 6.6

AN frferiRaT s s@en & we o (?)
1335 996 h§ 2 P WM W I A & A ARY?
— 5475, 1100, 225, 50, ?, 8, 6.6

’:"y ‘fy (a) 30
(c) 20

(d) 25



Select the figure that will replace
the question mark (?) in the
following figure series.

Waﬂ?ﬁﬁﬂmﬁﬂ’rﬁﬂﬁﬁaﬁ




Select the option that is related
to the fifth number in the same
way as the second number is
related to the first number and
the fourth number is related to
the third number.

192 :24::48 : 12::432: 7

SS9 fdowey &1 99 & S urEdl
& ¥ S UeR HEfRd § o gE
T el HEOT 9 Hefd g 3R
ARl & TR ST 9 e 2
192 :24 ::48 :12::432: 7?7

(a) 42

(b) 32

(c) 48

\ 8436



Select the figure that will replace
the question mark (?) in the
following figure series.

wmmmd Px o FAforfaa




(a) One
(Ab] Two

(c) Three

(d) Four

Each vowel in the word ‘PURITAN’

is changed to the previous letter
in the English alphabetical series
and each consonant is changed to
the following letter in the English
alphabetical series. In the newly
formed word, how many alphabets
are there in the English
alphabetical series between the
alphabet which is 1st from the left
and 4tt from the right?

‘PURITAN’ ¥ ¥ YAd WX &I
IS qUHATAT @l H B 3R |
e faar @ 2 R RS e
U qUMATET ST H Tl &R |
9o faar T 8| Fefea wes #, 91¢
¥ U8d 3R SW 9 A R P 9
UG JoiATAT SEen # fha ser 87



Select the figure from the options
that can replace the question
mark (?) and complete the given
pattern.

fAecdl # | I9 ATHA BT TIT B
of g fag (?) & wfoenfia &)
gl 8 3R Ry MY Y a1 [ &R




Direction: Some statements are
given followed by some
conclusions. Assuming the
statements to be true, even if
they seem to be at variance with
commonly known facts, decide
which of the conclusions logically
does follow(s) from the
statements.

frder 8 FUF IR STP q€ FY
frpd o ™ €| FUE B 9 JA
g7, Wl B 9 I AR W AT aAl |
=1 udia g &, fFolg o & @19 @
oy d@ETd@ ©9 | HUA Bl
3TTEROT T B |

Some boys are clever.
All clevers are donkey.

No teacher is a boy.



x (I) No donkey is a boy.
)( (II) No clever is a boy.

/< (III) All donkeys are clever.
§Y s> BIRAR |
4 IgR T B |

D5 Rrre dso1 T8 2 |
(1) IS TN FTSHT el B |

@ (1) B TR AT &I 2|
() S T TG B B
(a) All follows
(b) Only II and III follows

(c) Only I & III follows
(_Ad) Neither follows



Select the figure that will replace
the question mark (?) in the

following figure series.
S IMPHfA &1 994 H o fA=aferfaa

rHfa g@Eer # ued R (?) &1 wWH
oY |




By interchanging the given two
numbers and signs which of the
following option will be correct?

feu v 3 Rl &R SRl B Iy
¥ R 95aq W) f=folag § 9
BT fddey |8 e

41-9+8+ 5x 40 = - 23

@32-}%}(‘10%\' (a) + & x,40 & 5
b)-& +, 41 & 40
SR Ug-gsxy) e @

@ Y] 1> fx(c1)><¢s:,-,4oa»8



Five people make statements
about their height. Only one of

them is lying. Study the
statements carefully.

Mohan: I am taller than Nazim but
shorter than Shruti.

Pooja: I am taller than Mohan but
shorter than Shruti.

Shruti: I am the tallest.

Nazim : I am of the same height
as that of Pooja and taller than
Akansha.

. Akansha: Pooja is shorter than

Mohan.



g AT U Hals P SR H g9
240 8| STH ¥ P9 TP 3O 1A &l
m45 2 DUl BT AFYAD FETIT BN |
N £ 1. e § TR W o § AR AR W

Mkvé) BIeT § |

2. qom ¥ AET A G & AT R X

Ce<¢S o1 g
n _ 3. gfa: § weq il §
A <N P o RWE A cas o RrEh & alve
Who is telling a lie among that ATHILAT | el &
groupy 5. JTHIEAT Yo, AIE ¥ B ¥
e i g[S P dIel &l / el %? The M smallest person in the
L)‘)/P group? l
ooja . |
(b) Mohan wﬁwmaﬁawﬁﬁm?
(a) Nazim
(c) Nazim (b) Akan S‘B
(d) Shruti Pooja

(c
Mohan



Statement:

It is reported that heavy rainfall has
destroyed many agricultural crops
and farmers are in debt.

Conclusion:
I. Farmers need not repay the debt.

II. Prices of groceries and other
essential food items such as
lentils and grans will surge.

Y.
AT S 38T 3 & 91 IR & SR 53
S B d9ig B Mg § AR fHar Hol
4 g9 M B
forsp:

(a) Both conclusion I & II follow 1. el BT ool gEE A Srevd T8 |

(b) Neither conclusion I & II follow T - P— —

(c) Only conclusion I follow £ 9% o gt =
V(,df)'Only conclusion II follow g |



HHH

fl B M AT C Mok
FEMAEC

Seven friends, Chandan, Aman,
Falak, Manoj, Mahima, Bony and
Fatima, are standing in a line facing
east but not necessarily in the same
order. Chandan is to the immediate
right of Fatima. Fatima is fourth to
the right of Falak. Manoj is an
immediate neighbour of both Aman
and Bony. Falak, who is third to the
left of Aman, is standing at one of
the extreme end.

What is the correct position of
~Manisn s ? A WMo

91 3R BIfaH], gd B AR J& wRD (D
ufth § ws & Afbs oo 8! 6 s 34
¥ 8| eq, wifaar  fAecaq Sl 2
BIfoHT, Bod P a¥ A Y WE R B
o1, M9 R 9N 9 &1 AdeaH
USRIl 8| BAd, O 3WF @ 910 9 deR



WM W) g f5d 1o ifd 3R ® @S
g

AfgdT Y HE HH [T 87

(a) To the immediate left of Chandan

Ted @ did It 3R
(b) To the third left of Falak

BoPd b ST 3R R WIH )

F\ r{) {V\ F (. M (c) Fourth right of Bony
I 3 TR | TR WM W)
\/(() to the immediate left of Fatima

BIfqHT & 31 918 AR



The given statements are followed by
two conclusions. Find out which
conclusion is true based on the given
statements.

fee 0 oAl & T o Frpy I
fRT T FFl & MR W Yar AN b
o 91 sy 9 B

Statements:
J>K=L M>2N<K, O<J<P,N>Q
>R

\_
Conclusion:

(a) Only conclusion I is true

(b) Both conclusion I and II are true
(c) Neither conclusion I nor II is true
(¥ Only conclusion II is true



Each of the six policemen L, M, N, O,
P and Q have their night shift duties
on six different days of a week
starting from Monday and ending
Saturday of the same week, at
president house, but not necessarily
in the same order. L’s nightshift
duties are on the day immediately
after N. O’s nightshift duties are on
the day immediately before P but it is
not on Monday. M’s nightshift duty is
on Saturday. Q’s nightshift duty is on
Wednesday. Who among the following
has nightshift just after Q?

B8 JferaaH4ai L, M, N, O, P 3R Q # &
AP D AR Tl DI S G<E B8
JATIT oAl # AFaR | FH AN
S 99 & YMaR & Igufa Wad H
BT 8, Afbs Srov wEl fb o= 39 ¥ B




A Wﬁﬁm
1T
3
e
g2FeEFy
mw\mﬁWWﬁ
TEE
Lm$wwmm



Yo

o

(a) SO
(bt 70

(c) 60

(d) 100

Two buses start from the opposite
points of a a main road, 200 kms
apart. The first bus runs for 40 kms
and takes a right turn and then runs
for 60 kms. It then turns left and
runs for 40 kms and takes the
direction back to reach the main
road. In the meantime, due to
accident the other bus has run only
S50 kms along the main so road. What
would be the distance b/w the two
buses at this point?

< g9 200 fHare & O | & A
ged & fQuda fdgai & gs @t g1
Ugell 99 40 fHeaiey gordl g 3R <8
AR ol B 3R B 60 fHarier Tad
gl R I8 8 R gedit 2 3R 40
fdeiiiey a@ gadl 8 R &I dsa d
g @ forg amow ol 81 g 9Hg
gHeAl & HRU T 9 & HeP W
®ad 50 fhadiey =e 31 39 fig w
QT 991 D 9" D g T BN



() ANBNC/D+E
)@)A/BUCUD/E
X€) A/B+C-DUE
\JUd/AUB/C/DUE

If

‘P + Q’ means ‘P is the father of Q’.
‘P - Q’ means ‘P is the mother of Q’.
‘P / Q’ means ‘P is the sister of Q’.
‘P U Q’ means ‘P is the son of Q’.

‘P N Q’ means ‘P is the daughter of
Q.

then which of the following means
that ‘A is E’s daughter’s son’?

Ife

‘P+Q &I A 8 P, Q & fiar |
‘P-Q HTAT B P, Q I Hf 8|
‘P/Q HIAAEP,Q & 589 2 |
PUQHAAETP,Q & JF 7|
‘PAQ HT3A 8 P,Q P ¢l & |
ar fF=folRaa & 9@ foaer oef a8 & f&
A,E P 91 &7 92T 87



Which of the following number will
come at the place of ?

1 — :'_\’\ R & o & wen ? @ W
i
42 2 P18 opg oM

64 (46 |75 |67 |=260
b4 Ge 3 6 e IR

\/ —~ —
> 7 _ha] 864 PEL
13— g / (c) 784 (d) 625
T >
[225-36)




Find the number of triangles in the
given figure.

& TE ol ¥ Pl @ W §@







